AUG-11211/11

ECONOMICS

Paper 11

EOMIE

gyutTent 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

GO : A YIAURRd THO g (50) FguEiE We ol sfed. wekd weren € (2)

U A WS WY Hiea.

[Maximum Marks : 100

1.

If X and Y are perfect substitutes
and Py < Py, then the Engel curve
depicting the relationship between
income and optimal choice of X would

be :

(A) Ray from the origin with slope
= PX

(B) Ray from the origin with slope
= PY

(C) Negatively sloping with slope
= PX

(D) Negatively sloping with slope

=PY
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Price elasticity of demand is :

(I) same at all points on linear
demand curve

(IT) different at different points in case
of all non-linear demand curves

(A) I is correct but not II
(B) II is correct but not I
(C) Both I and II are correct
(D) Both I and II are wrong

Consider a point where straight line
from the origin is tangent to the total
cost curve. Which one of the
following is true ?

(A) Marginal cost is minimum

(B) Average variable cost is

minimum
(C) Average total cost is minimum
(D) Average fixed cost is minimum

If there are constant returns to
scale, then the tangency points
between the short run average cost
curves and long run average cost
curves are at :

(A) the falling portions of SACs
(B) the rising portions of SACs

(C) initially at falling portions and
then at rising portions of SACs

(D) minimum points of SACs
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If monopolist faces unit elasticity

demand curve, then :

(A) MR = MC in equilibrium

(B) MR < MC in equilibrium

(C) MR > MC in equilibrium

(D) MR < MC and equilibrium does

not exist
In Cournot model of duopoly :
(I) Each firm maximizes profits
(IT) Joint profits are maximum
(A) Statement I is correct but not II
(B) Statement II is correct but not I

(C) Both Statements I and II are

correct

(D) Both Statements I and II are

wrong

‘There is no ideal way to aggregate
individual preferences into social

preferences’ is :
(A) Second Welfare Theorem
(B) Arrow’s Impossibility Theorem

(C) Samuelson’s Impossibility
Theorem

(D) Walrasian Impossibility
Theorem
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10.

According to classical approach an
increase in the quantity of money

will lead to :

(A) an increase in output

(B) an increase in employment
(C) an increase in prices

(D) an increase in velocity of money

In standard notation if C = 300 +
0.8Y,1=600, G =200, then a rise
in I by 100, will cause income to go

upto the level :
(A) 5,000
(B) 6,000
(C) 6,500
(D) 7,000

Hypothesis which states that
with the reduction in income,
consumption does not go down,

is known an :
(A) Wealth effect
(B) Price effect
(C) Income effect

(D) Ratchet effect
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11.

12.

13.

With the expectations that the bond
price will fall in future, people will
hold :

(A) Less amount of money

(B) More amount of money

(C) Same amount of money

(D) Money-independent of bond
price

If the money supply (M) = 4,000 and
the money multiplier = 4, then the

value of high powered money will

be :

(A) 500
(B) 1,000
(C) 1,500
(D) 2,000

Business cycle occurs in Samuelson’s

model depending on :
(A) only value of multiplier

(B)

only value of accelerator

(C) both the values of multiplier and

accelerator

(D) irrespective of values of

multiplier and accelerator

11.
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14.

15.

Expansionary monetary policy
becomes ineffective when the
equilibrium occurs in this portion of

the LM curve :
(A) Horizontal
(B) Vertical
(C) Falling
(D) Rising

As per the Singer-Prebisch thesis,
international terms of trade can
become adverse for developing
countries

exporting primary

products due to :

(A)

High income elasticities of

demand for primary products

(B) Development of synthetic

substitutes for primary products

(C) Competitive markets for

synthetic goods

(D) Higher level of human capital

development

14.
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16.

17.

Income is transferred from some
households below the poverty line to
those just above the line. In this
context which of the following

statements is true ?

(A)

The head count ratio increases,

but not the poverty gap ratio

(B)

The poverty gap ratio increases,

but not the head count ratio

(C) Both the head count and the

poverty gap ratios increase

(D) Neither the head count nor the

poverty gap ratio increases

The socialist model employed for

capital accumulation in the

erstwhile Soviet Union involved
movement of terms of trade

against :

(A) The agricultural sector
(B) The industrial sector
(C) The foreign sector

(D) The services sector

16.
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18.

19.

The maximization of the rate of
creation of investible surplus
and

criterion of Galenson

Leibenstein involves :

(A) Maximization of real national

income in the current period

(B) Maximization of per capita real

income in the current period

(C) Maximization of real national

income at a future point of time

(D) Maximization of per capita
income at a future point of

time

A Ricardian economy enters the

stationary state due to :
(A) Constant long run wage rate

(B) Falling share of rent in total

output
(C) Rising rate of profit

(D) Falling population growth

18.
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20.

21.

22.

The two gaps referred to in a
Chenery and Strout kind of model

are :
(A) Technology and saving gaps
(B) Technology and trade gaps
(C) Savings and trade gaps

(D) Savings and output gaps

The correlation coefficient between
ranks of countries by per capita
income and ranks by human

development index is :
(A) Below 0.1

(B) Around 0.33

(C) Around 0.66

(D) More than 0.7

Grants in aid under Article 275 are

affected through :

(A) Planning Commission
(B) Sarkaria Commission
(C) Finance Commission

(D) Election Commission
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23.

24.

25.

The ratio of own revenue receipts of

a state to its total revenue

expenditure is referred to as :
(A) Tax efforts

(B) Fiscal discipline

(C) Fiscal adjustment

(D) Fiscal capacity distance

The criteria used for devolution of
proceeds from central taxes by 13th
Finance Commission to foster fiscal

efficiency among the states is :
(A) Fiscal capacity distance
(B) Tax efforts

(C) Fiscal discipline

(D) Infrastructure distance

The service exempted from service

tax is :

(A)

Transport of coastal goods

(B) Transport of goods by Air

Services

(C) Transport of goods by Rail

Services

(D) Service provided by electricity

exchanges
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26.

27.

28.

In which economic activity the

Government plays key role ?
(A) Creation of monopoly power
(B) Provision of public goods

(C) Provision of impure public

goods
(D) Destabilize the economy

Which one of the following fiscal

measures bring fiscal stability in the

economy ?

(A) Reduction in non-plan revenue
expenditure

(B) Increments of grants to states

(C) Increase in public borrowing

(D) Reduction in capital
expenditure

The ultimate aim of the Medium

Term Fiscal Reforms is to :

(A) Bring down debt to sustainable

level
(B) Increase fiscal deficit
(C) Reduce current account deficit

(D) Reduce subsidies

26.
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29.

30.

31.

Eurocurrency is :

(A) Commercial bank deposits in a
nation denominated in a foreign

currency

(B) Currency used by the European

Union

(C) Currency used by the European
Union to give loans to the other

countries

(D) Commercial bank deposits in

the US

Special Drawing Rights have been

created by :

(A) Asian Development Bank
(ADB)

(B) International Bank of
Reconstruction and

Development (World Bank)
(®);
(D)

UNCTAD
International Monetary Fund
(IMF)

The Gold Standard was operating
from :

(A) About 1880 to 1914
(B) About 1850 to 1915
(C) About 1900 to 1929
(D) About 1900 to 1945

29.

30.

31.
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32.

33.

34.

Import substitution Industriali-
zation is :

(A) Encouraging Imports of

manufactured goods

(B) Replacement of imports of
with
domestically produced goods

industrial goods

(C) Replacement of Exports with
Imports

(D) Encouraging Imports of

essential goods

The concept of Immiserising growth
was postulated by :

(A) Jagadish Bhagawati

(B) Avinash Dixit

(C) Paul Krugman

(D) Meltzer

Optimum tariff is :

(A) Tariff that increases the exports
(B) Tariff that decreases the exports
(C) Tariff that helps to improve the

country’s balance of payments

(D) The rate of tariff that maximises
the benefit resulting from
improvement in the country’s
terms of trade against the
negative effect resulting from
reduction in the volume of

trade

32.

33.
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35.

36.

37.

An example of Customs Union is :
(A) SAARC

(B) EU

(C) NATO

(D) Both SAARC and NATO

Which of the following statements
about WTO is not true ?

(1) It seeks to make international
trade free by establishing
predictable and transparent

ground rules

(2) It promotes capital flow from
developed to

developing countries

countries

(3)

It provides mechanism for trade
negotiations

(4)

It works as a nodal agency for
settlement of trade disputes

(A)
(B)
(®)
(D)

The Generalized System of
Preferences (1971) was introduced
under the aegis of :

(A) IMF
(B) IBRD
(C) UNCTAD
(D) WTO

Statement 2
Statement 4
Statement 1
Statement 3

35.

36.

37.
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(A) IMF
(B) IBRD
(C) UNCTAD
(D) WTO

(A)
(B)
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38. Statement I : Compared to the

12th Finance Commission, the 13th

Finance Commission has
recommended about 80% higher
amount towards grants-in-aid

transfers.

Statement II : As compared to the
12th Finance Commission, the
percentage share of grants-in-aid
transfers recommended by 13th

Finance Commission has fallen

(A) Both the statements are

incorrect

(B) Statement I is correct but the

statement II is incorrect

(C) Statement I is incorrect but the

statement II is correct

(D) Both the statements are

correct
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39. In respect of Fiscal Responsibility

40.

and Budget Management Act, the
following statements are made :

(1) It lays down limits for revenue
deficit and fiscal deficit as a
percentage of GDP.

(2)

It is applicable to central as well
as State Governments.

(3) It does not permit the Central

Government to give guarantee
to loans raised by PSUs and
State Governments beyond
0.5% of GDP.

(4)

It recommends an upper limit
for the liabilities of the
Government.

Which of these statements are
true ?

(A) (1) and (2) only
(B) (1), (3) and (4)
(C) (2), (3) and (4)
(D) (3) and (4) only

How much percentage share of states
is recommended by 13th Finance
Commission on the basis of
population criterion ?

(A) 20%
(B) 22.5%
(C) 25%
D) 10%
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Siedeht vl faem B’ smed ?
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(C) faum (2), (3)  (4)
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41. Pertaining to National Agricultural | 41. I FH RO 2000 STTHR VAR
Policy 2000 which of the following FIUE fFu™ SOET oRd 2
statements are true ?

(1) faweerh It yafdd s 38 @M
(1) It aims at promoting Sfewe o
sustainable agriculture.
@) Tt emphasizes the devel . (2) <Id UYEA ferehtd, sRerepedTa,
emphasizes the developmen
. YfaeRm™ o A Il FAreR W
of animal husbandry, poultry,
dairying and aquaculture. .
(3) It recommends the imposition of (3) T IS SCHTAL T FHITATI
tax on farm incomes. formrRE e
(4) It recognises women’s rights in (4) SR fommEmR 5w STHe &
land "ol e
(A) (1) and (2) (A) fagm (1) 9 (2)
(B) (1), (3) and (4) (B) faum (1), (3) 9 (4)
(C) (1) and (4) (C) faam (1) 9 (4)
(D) (1), (2) and (4) D) fa&m (1), (2) 9 (4)

42. A company is classified as ‘sick’ when | 49 v faxfrg gufen v U@ U
the accumulated loss at the end of A e T T T T AT
any financial year leads to how R T e sEE, @ @
much percentage erosion of its P R I
networks :

(A) 25 TFh
(A) 25%
(B) 75 =h
(B) 75%
(C) 50 =F=h
(C) 50%
(D) 51 ZFh
D) 51%
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43.

44.

45.

If Xy and X, are means of two
samples having size N; and N,
respectively, the combined mean of

the two samples will be given

A) (X, +X,)/2

(B) (X; + X)/(N; + Ny)

(€©) (N;X; + N,X,)/(N; + N,)
D) (X, + Xy)/N

Sum of deviations of a variable from

its mean is always :
(A) positive

(B) negative

(C) one

(D) zero

In binomial distribution if N = 100
and p = 0.5, then the mean of the

distribution will be :
(A) zero

(B) one

(C) 50

(D) 100

43.

44.

45.

AUG-11211/11

N, 30T N, SR ST&ered S T
A X, 370 X, STEeA™, A SH T
T A8 ¥ A8d

A) Xy +Xy)/2
B) Xy + X /Ny + Ny)
(C) (N;X; + NuX,)/(N; + Ny)

D) (X, + X,)/N

delledl ==l l-IIf-itll'-II{-L"ITX—H 215221
fo=ron=t S T'HE
(A) &1 39q

(B) Ul A9d
(C) T& I9d

(D) A FEd

fgudt faquomaed sk N = 100 awfor
p = 0.5, W faatoma @127 1 @ ?
(A) 3=

(B) T

(C) 50

(D) 100
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